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Part A: Grammar and Vocabulary
Choose the best answer to each question.
The men in the mines stop work when they hear the whistle ~----—-.
1) blow 2) to biow 3) is blowing 4) blows
I would have gotten there on time if I ----——- early enough.
1) left 2) would leave 3) had left 4) will leave
The storm caused a(n)----—- in bus service,
1) implication 2) inflation 3) disclosure 4) disruption
With the -—----- of computers, many tasks have been made easier. .
1) requisite 2) advent 3) exhibition 4) illustration
Some of the milk turned sour before reaching the market and -—--—---- thrown away.
1) should be 2) had to be 3) should have been 4) would have been
Many —--- items are turned in to the railroad officials every week.
1) lose : 2) loss 3) losing 4) lost
I became -~v-v in what the teacher was saying and didn’t hear the sound of the bell.
1) absorbed 2) dedicated 3) distinguished 4) promoted
The majority of students felt —--- for the teacher’s help.
1) frank 2) logical 3) grateful 4) beneficial
Part B: Cloze Test
Choose the answer that best completes each blank.

In recent years, smokers have suffered more than (9) —---- group in society. In many countries,
the price of cigarettes has gone up because of (10) --—-- -- government taxes. We have seen smoking

(11) ----- from public places. But why doesn’t the government try to ban other things that do us
(12) ~---—- , such as aleohol and fatty food?

1) other 2) another 3) the other 4) any other

1) heavy 2) expensive 3) fundamental 4) precious

1) committed 2) abandoned 3) banned 4) accused

1) harmful 2} harm 3) harming 4) harmfulness

Part C: Reading Comprehension

Read the following passage and answer the questions.

Seventy percent of all living species including all dinosaurs were wiped off the surface of the
earth 65 million years ago. There have been various theories that their extinction was caused by a
great catastrophe of one sort or another. But now, instead of mere speculation, it has almost
become an established fact that a meteor did the job.

The impact on earth of a large meteorite would have raised a dust veil blocking off enough
sunlight to stop photosynthesis, the process by which plants make the food necessary for their
survival. This would have killed them, destroying the food on which animals depended, and would
have triggered a brief lce Age, reducing still further the number of survivors.

About 65 million years age, most species of animals --———- .

1) had not yet been created 2) were destroyed completely

3) moved to the surface of the earth 4) migrated from the land into the water
It is most likely that the extinction of many species was caused by -=eee-nm- .

1) an object from outer space 2) a nuclear explosion on earth

3) intense radiation from outer space 4) a large increase in global temperature
In addition to stopping photosynthesis, the dust veil caused ---—- .

1) blindness in surviving animals 2) widespread outbreaks of illness

3) a slight increase in plant species : 4) very low temperatures worldwide
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In the name of God
Fill in the spaces provided in the following statements with the most appropriate & suitable
coupled words indicated below :
The reader of a ... consists of , both the scanner & ... , while the vital elements required to
automate a machine’s activity is usually arranged as sensor, analyzer , actuator , driver
1) machine-driver 2) printer - reservoir
3) bar code - detector 4} Cooling tank - sensor
A man - machine system may consist of one man & one ... Usually in this system the vital
errors may be traced to the ....
1) machine - operator 2) operator - operator
3) environment - surroundings 4) operatoin - machine design
Material , energy , &/or information that passes from the system to the environment is
called ... & everything that remains outside the boudaries of the system is called ... .
1) output - results 2) results - outsiders
3) output - environment 4) input - subsystem
In the computer simulation, is an operation to establish the fact that the execution of the
computer progaram has been ... As intended.
1) resolution - finished 2) evolution - processed
3) predication - completed 4) proramming - processed
.. Must be considered as am essential system ... during the overall design process in a
hostile environment.
1) reliability - parameter 2) complexiblity - fact
3) feasibility - requirement 4) applicability - parameter

Please read the following passage and answer the following questions accordingly :

The principal functions of I.S & E comprise activities at two levels .

These which will be detailed out in the following sections can be categorized as human
activity systems and management control systems .

The first level ; within an organization consists of elements such as manufacturing process
itself, material handling and material flow, plant layout, etc. On the other hand
management control system will cover broad area such as Mgmt.

Planning system, Forecasting and inventory policies , Corrective action procedures.
Information system, etc. Even though, the design methodology for L.S&E’s

Is relatively primitive and non rigorous, its applications may involve interdisciplinary
areas.

To solve various production . Problems, scale models are used rather than physical scale
models.

Although, various aspects of I.S&E can be explored here , but the main theme of this
passage is "production” . This in general term is "increasing the utility of an object or
service". Most of the times, we automatically relate production to the manufacture of an
object but it should encompass all activities expect perhaps acts of genocide. Even the
dissemination of news or staging of a play can be called productions. The studies of
productions a production system can start from the study of human life track that down to
the different stages of human specialties. This begins from the time when he became an
artisan to industrial revolution when he could not compete any more with the new source of
power with his muscle power. Then he completly lost most of the individuality he had
possessed by falling into a trap called assembly line and "mass production system" This
new method of production which emerged at the beginning of the 20'" century by Henry
Ford has a significant meaning that should be properly grasped. Mass production is neither
production for the masses although this may be an outcome , nor production in the
millions. Th manner man produced his goods or services continued changing until 1940. In
the early 40,s the electronic computer was developed and once again man found himself
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displaced by the machine . One example of this can be exhibited by Numerical Control
Machines which involves in controlling metal - working processes with the use of a
computer.

Today, which kinds of models are more used to solve production problems?

1) Scale models. 2) Symbolic models.

3) Conceptual models. 4) Physical scale models.

People usually connect "production " to :

1) Providing some services. 2) Manufacture of an object.

3) Industrial and Systems Engineering. 4) Processing by Numerical control machines.
Material flow & handling equipments or procedure is :

1) Part of human systems . 2) Part of human activity systems.

3) Part of management control systems. 4) Necne of the above.

Mass productlon means :

1) Production in millions. 2) Production for masses.

3) Production by assembly line methods. 4) None of the above.
The principal functions of industrial engineers are :

1) About human activity systems. 2) To optimize industrial systems.
3) About management control systems. 4) comprise 1 & 3.
When did man lose his individuality ?
1) When he became an artisan. 2) When assembly line emerged.
3) Botha & b. 4) None of the above.
Assembly line was developed by
. 1) An artisan. 2} Jackson Ford 3) Henry Ford 4) Electronic computer.
When was man displaced by the machine once more ?
1) In late 1940 ’s 2) During 1* world war.
3) In the early 40’s 4) During industrial revolution.

Production means :

1) Manufacturing of an object

2) Planning and controlling act of genocide.

3) Increasing the utility of an object or service.
4) Dissemination of news or staging of a play.
The application of LS&E is :

1) Primitive and non rigorous.

2) An interdisciplinary area of study.

3) Use of symbolic or conceptual models.

4) Applications of math techniques in real world.
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1ol walgs wio a0 Print f (" %d",f (n%10)); pd o b a6 bast bindls PYD 302 solo D guono i & g0 50 —\YY
f (int a)

{
int x=10;
switch (a)
{
case S:x=x+a;
case 2:++x;
break;
case 6:——X;
}
neturn X;
3
16 (f 15 ¢ 11 ¢y 90
Tadaidlghar X g 1 g M gl yuiio ghoime 125.4 oy 4 T slaoots oad o i 1o s g Jlis sl y &G g1 1l —1YF
int m,n;
float x;
scanf ("%2d %1d %3f" ,&m,& n, & x);
m=12 ,n=5,x=04 (v m=12 ,n=5,x=4.0 ¢
m=12 ,n=0,x=54 (f m=12 ,n=5,x=0 (v

log anlyd 4 § puida shaime Wlie O s3iard 51501 U s uimer 905 dualy golo P T kst 03 17D
int P[100],i,} :
for (i=99,j=0;i+1;--i)
if (P[i]%2)
++j
P o, pole olaas (Y P 4l g5 pebic olaws (0
Sy sleoe P &8T5 5 olie ol (F s slein P 81T g olie ohass (F
Tad antyh ol a2 90193 MUy 1214 —1Y7
#include <stdio.h >
main (){
int n=0
for (53)
{
n+=3;
if(n <=10)continue;
n+ =4;
if (n >= 25)break;
}
printf ("n = %d",n);
return (0);
}
n=11 ¢ n=26 ¢ n=29 (v n=30 (\
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#include < stdio.h >
main () {
int a=},b=2,c=3;
c+=(a>0& &a<=10)?++a ta/b;
printf("c=%d",c);
return (0);
}

c=0 (f c=5 (v

F(A,X,N)= A *X **N

DO 2 1=2,10,3

PRINT *,F(I,2,1/2)
2 CONTINUE

END

128, 20,4 (¢ 36,20,4 v

for(i=0; ++i<=10;i+= 2);
printf("%d",i--);

tewt Jot M 8 4T W gn e 390 48 10 0 4l 51l iy 2

TS ity ol 4 gty g stomt 1YY

c=4

c=3 ¢

Tog) antes gotusl 4o Julhe daliyh g b YA

20,16 ,4 (v

H v

I=M ¢

100,20, 4 ¢
TS wlo 4 Jolis by 45 —1Y8

10 ¢

Ippmone sy M g1y,

I>M

¥ ity X&Y ,X& &Y Soybe Jhdaint x =1,y =2; Wit -1y

13 ¢f 12 ¢
1:=2;
while M mod I<>0 do I:=I+1;
I<%d~ (t I<M ¢
2,0 ¢f 0,1 ¢

2,1 ¢

1,10
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Recursive (¢ Static v

for (n = 0; getchar O'="\n"; + +n);
e OlalS slaas (F Aoz SlalS slass (¢

51.625 (¢ S1.5 v

Towl jily 1500 Juloc 1 =7 ym

m+n*(m+m’fn mod 22 div (m-2))/2
64 (v 58.5 v

Double (v

Cast

lm@glﬁibg,lﬁ. @R ;e gl il -IPF

Oy g yilase shaas (Y
foguatys 40 110011.101 i 99 308 aaad ile — (1)
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INTEGER A,B
F(A,B)=A-A/B*B
K=90
N=1328

DO WHILE(N.GT.0)
K =K +F(N,10)

N=N/10
ENDDO
PRINT *,K
END
14 (¢ 10 ¢ 8 (v 4 Q
Togh onlyh d Jlin il s & 508 (5 sigueels Sgu b Jolan —1Y'A
a(m-—n)_1
a+b
b-1
n
m——
2
a*(m-n)/(a+b)-1/(b-1)/m-n/2 v (a*(m~-n)/a+b-D)/b-1)/(m-n/2) ¢

(@a*(m-n)/(a+b)-1)/((b-1)/m—-n/2) (¢ (a*(m-n)/(a+b)-1)/((b-1)/(m-n/2))
lograalys 4o Jgdg3 pd 4 2 JaSio gy 41 ool 3 1919 — 91 o s duwslows aonass 114

10111000 ¢ 10111001 ¢v 10000111 ¢v 10110111 v
logr anlys dor 10 gliae 50 5T Jolas cailyge 1010011001 Jfi o Ligsgs pp w2 JoSa gy & G 10 48 guwe 3 4 cadle gous  —1F+
665 (¢ -153 ¢v -358 (v -359 ¢

!a;g.ul,éa_-.”b M aiie 35 O pwd 5101 b il o gbie M g 0 g g1y e S 01 —1FY

for i:=1 to length(S) do
if S[i] in ['0'.'9'] then
m :=m*10+ORD(S[i])-~ORD('0");
S a4zl ;0 0prge )} Sla¥ £gamo (¥ S i) ;0 0990 plB | poz Jol> (4
0ud il S 0 Caly Camns IS o) 5l Al 4 Cemgsue (F ool <l S 2 e Seanr G 8, 5l el ) a8 e sae (F
1og wlgs 4o aud il ames Wrrite (T (F(438)) + 21) g 41 T Lant g o Jilie doli g 53,8 0 oty —VFY
function f(n :integer):int eger;
var
k : integer;
begin
k:=0;
repeat
if (n mod 10) div 2=0 then
k:=k+1;
n:=n div 10;
until n=0;
f:=k;
end;
1 ¢f 2 3 50
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j:=9
for i:=1 to n do
begin
$:=s+j * exp(i*In(x))/i;
i=-i
end; _
X x x?
Xt———d—.. (¥
2 3 4

1;—212 +31|£3 -4x4+... (f

Pr ogram S 1

var
s :string [80];
i, j,k : int eger;
begin
s :="this is final exam!!"';
j:=0; k:=0;
for i:=1 to 20 do

case  s[i] do
Crat'eyittji=j 41
else
K:=k+1;
. end;
write('j=',j,'k =',k);
end; ‘
i=3,k=17 ¢ i=2,k=18 ¢v
Procedune
var
i:integer;
begin
if n>m then
for i:=m to n do
if not(odd(i))then writeln(i);

p(m,n:integer);

end; _
M0 G o8 sloel S (F M g0 o g Slast S (¥

830 on duline 305 S oz B llo S g a5 gemma 5121l —1FY

2 x3 x4
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2 3 4
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2 3 4”7

Togign o 4 Jitio kol sl 21l —1FF

i=6,k=14 (v j=14 k=6
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FUNCTION S(A,N)

INTEGER  A(N,N),S
S=0 |
PO 10 I=2,N
DO 10 J=IN

10 S=S+A(I+J)

RETURN
END
A s lo ghol o o5 5 5lab polie gpasme (¥ A e ol a5 polic ggama ()
A e Jhol Jab Y 5 b polic Eyomme (F A ale ol o8 gV yolic pparme (F
. . . . - x-x;)
1395 46 syl 403 1S oo i Jow 39 e e g1 Ay D X s X 5 bllgn e e e il a1 S0 -AFY
SUBROUTING F(X,N)
REAL X(N)
S=0
DO 2 I=LN
2 S$=S+X(I)
P=S/N
S=0
PO 3 I=LN
3 CONTINUE
PRINT *, SQRT(S)/N
END
S=S+(P-XD)**2 S=(P-XIN**2
S =S+SQRT (P - X(1)) (f S=S+P~X(I)**2 (v
Tailign o sliuw 30 (gous &2 Jolae FI/1YD Lavns sus —1FA
101001.001 ¢ 101001.101 ¢¢ 101001.011 (v 10101.001 ¢

14 antys ol 42 PRINT *, K (16,42) o 4 3sb a6 sbiwly —1F4
FUNCTION K(M,N)

INTEGER M,N,K,L
L=M-M/N*N

DO WHILE (L.GT.0)
M=N

N=L
L=M-M/N*N
END DO

K=N

RETURN

END

42 (¥ 16 ¢v 2 Iq
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fad aalys wle 40 PRINT *,M (296) P4 Jilhe MU JLanlly —1De

FUNCTION M(N)
M=0
DO WHILE (N.GT.0)

M =M*10+MOD(N,10)

N=N/10
END DO
RETURN
END

Yo (F 17 ¢ 71 (v 692 s
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